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Quant Mega Quiz for SSC CGL

Q1. If cotA - cotB =X, then what is the value of X?
qﬁcotA—cotB=X,Eﬁx?=ﬁTﬂTFrEITErﬁ

(a) (cotA cotB - 1)/(cotB + cotA)

(b) (cotA cotB + 1)/(cotB + cotA)

(c) (cotA cotB + 1)/(cotB - cotA)

(d) (cotA cotB -1)/(cotB - cotA)

Q2. Two students appeared for an examination. One of them secured 23 marks more than the other and his
marks were 60% of the sum of their marks. The marks obtained by them are

21 fa=meft u adear # Sufeaa gia 81 S 9w f=meft & s et & 23 siw sifers ww gia § o S
37, STk ST & AT FT 60% Bl ST G ATH 3 T &7

(@) 69 and 46

(b) 68 and 45

(c) 107 and 84

(d) 54 and 31

T 1
- d =
Q3. The reciprocal of the sum of the reciprocals of ¢ % is

7 1
—and-

6 " 9 % SIGHH * T o SLHH AT 572

@) &
)
@
(d) &

Q4. Profit of Rs. 277200 has to be divided among three partners
Abdullah, Bhanudas and Chakor in the ratio 3 : 6 : 2. How much share

(in Rs.) Chakor gets? el W
277200 TTF & ATH T AT AR AsgodT, WIS Sl T & S

3: 6: 2 F SIUTa | fasrrfora faham ST 81 90K &y ([0 #) e e

(a) 50400

(b) 151200 All SSC Video Courses
(c) 75600

(d) 252000
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Q5.Ifxy=18and ¥° +¥" = 45.then what iis the value of (x + y)?
7R = 183 X +¥7 = 45§ (x + y) T 7 AT FX

(a) 36

(b) 18

(c) 27

(d9

Q6. What is the equation of he line which passes through the points (-1, 2) and (4, -3)?
&g (-1, 2) 3% (4, -3) & BIFL [ETIA ATAT T@T FHT GHIHTIT FT GRIT?

(@x+y=3

b)x+y=1

(ox-y=1

(d)x-y=-3

Q7. If the curved surface area of a right circular cone is 2310 sq cm and its slant height is 35 cm, find its

— 22
total surface area? (Take T=7 )

% UF & JROT 4F F7 T 7T AR 2310 T AT § 30w 3HA /e S 35 AT &, A0 9w I

T drer s e (7 7
(a) 7392 sq cm
(b) 1848 sq cm
(c) 5544 sq cm
(d) 3696 sq cm

Q8. The co-ordinates of the centroid of a triangle ABC are (-1, 2). What will be the coordinates of vertex C if
coordinates of A and B are (3, 0) and (-1, -1) respectively?

st ABC % Fmsa & fAaeria (-1, 2) 81 3R A sfie B & fA<ers (3, 0) 3% (-1, -1) § ar Fwer: it ¢ ¥ MAdeni=
T BRI

@ >7)

(b) &2

© (-4,4)

(@ ©=7)

Q9. A trader had 13 quintals of wheat. He sold a part of it at 14% profit and the rest at 24% profit, so that he
made a total profit of 18%. How much wheat did he sell at 24% profit?

T AT F 91 13 fest T 9T I9q 967 TS RET 14% AT 9 3T A 24% AT 92 9497, ™oras & For

18% WATH GATI 24% FATH I G FHaaT Ag =17
(a) 780 kg

(b) 260 kg

(c) 1040 kg

(d) 520 kg
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Q10. In which of the following quadrilaterals opposite angles are not supplementary?
Fraforr 3 & P el 3 P 7or Ok At B &7

(a) Cyclic quadrilateral / == 1T T

(b) Square / ¥

(c) Parallelogram/ HHT=AY AqHT

(d) Rectangle / 3rad

Q11. 50 litres of mixture of alcohol and water is in the ratio of 1 : 4 respectively. If 10 litres of mixture is
taken off and replaced with 10 litres of water. Then what is the new ratio of alcohol and water respectively?

ARG ST qTHT FT 50 AT Forsqor FA: 1: 4 F SIUTa ¥ g1 WX 10 FHex Fsyor ey foraam srar § w10
e It & qa AT SATAT g1 AV FHHST: AhIGA ST TTHT T AT AT F4T 872

@1:4

(b)2:11

(©)1:5

(d)4:21

Q12. Average of 7 consecutive odd numbers is 31. If the previous and next odd number to these 7 odd
numbers are also included, then what will be the new average?

7 AT fAaw ge&greit 7 ofq 31 81 3 39 7 foww dearet # st o seret o deamsi & oft e
ForaT STTaT &, Y 7T S ) g

(a) 33

(b) 31

(c) 35

(d) 29

Q13. Average weight of a class of boys is 24 kg. When a boy having weight 36 kg leaves the class and a new
boy having weight 30 kg joins the class, then the average weight become 23.5 kg. How many boys are there
in the class?

ASHI I HET HT SEq a9 24 FAITH 81 T 36 FheAT a7 ATAT TF ASHT AT Gl a7 g X 30 et as=
JTAT T 74T ASH[ HETT | AT grav g, AT MG aw+ 23.5 et gr Strar &1 Fer # foraw 2% 87

(@) 12
(b) 8
(c)6
(d)16 ENGLISH

Q14. An article is sold at a profit of 50%. If the cost price is doubled
and the selling price is halved, then what will be the new profit or loss

percentage? s s c c G L

T TG 50% & ATH 9T 9941 AT 31 TR 7 oI THET iR fawma o7

e T F3=T ST 8, A 79T v A7 griw whawra 14w e PUBLICATION PRIME
(a) 62.5 Loss/ E‘Iﬁ

(b) 62.5 Profit/ =T SSC CGL |CPO|CHSL & Others
(9)37.5 Loss/ e 7 Printed Books

(d) 37.5 Profit/ &tTH
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Q15. By selling a pen for Rs 105 there is a loss of 30%. At what price (in Rs) the pen must be sold in order
to gain 30%?

TF U FT 105 TIF | 99 ¥ 30% FT THATT 2rdT gl 30% ATH 16 F:4 F e 97 =t e g = (7 9)
IIET ATRY?

(a) 215

(b) 165

(c) 195

(d) 200

Q16. Population of a town increases by 12% every year. If the population of town will be 188160 after 2
years, then what is its present population?

et ergx fit SeEEET ® g a¥ 12% #i giy St 81 3R 2 99 a1 gy Y s\Eear 188160 g AT, AT AT
FAATT TAGEAT T &7

(a) 150000

(b) 160000

(c) 155000

(d) 165000

Q17. A 120 litres mixture of milk and water contains 40% milk. How much milk (in litres) must be added so
that milk becomes 50%?

& ST qTHT ¥ 120 AT FAor 7 40% 3¢ g1 3R fAhaer g (e /) fAmar sar =fRw arfE ga 50% =Y
STa?

(a) 28

(b) 30

(c) 24

(d) 32

Q18. A person goes to his office by scooter at the speed of 50 km/hr and reaches 10 minutes earlier. If he
goes at the speed 40 km/hr, then he reaches 20 minutes late. What will be the speed (in km/hr) of the
scooter to reach on time?

T qT<h 50 T / st Y T & TFeX § 9 FITad S1ar g i 10 e gget ag=ar g1 It ag 40 &t/
HeT &t fq & 191 §, I 98 20 e 8 & wg=ar g1 TRy 9 ugEa & forg s & i (Rt / ster /)
BRi?

(a)‘”ﬁ

(b)
©)
(d)

2
46
48>

13

47>
12
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Q19. One third of a certain journey is covered at the speed of 40
km/hr, one fourth at the speed of 25 km/hr and the rest at the speed 12 Months Subscription
of 50 km/hr. what will be the average speed(in km/hr) for the whole
journey? A
T At amm #1 F fage 40 fFf / der i e & Feax v smar g,
e Pl eE R T R A e e e e PREMIUM PLUS
T sTar @1 T e % g siraa sy (Rt / ster /) == gfi?
(a)37.5

(b) 33.5

(c)33.33

(d) 38.33

SSC CGL

Q20. What is the simple interest (in Rs) on a principle sum of Rs 1440 for 3 years at the rate of 8% per
annum?

8% Tt a it X & 3 a9 & forT 1440 Tq3 Fi T 9T FTETT AT (T |) FAT 8?2
(a) 345.6
(b) 230.4
(c) 367.8
(d) 312.2

Q21.
1 1 1

«f(«fff( """ © 120121

Determine the value of

FT AT AT FY|

A
(@ 120

b) 1212

© 10

) 8

Q22.

If +/5 = 2.236, then the value of g—%—«ilﬁ is equal to
2
10

afe V5 =2236 g ar ¥ - +15 &1 A R e §

(a) 7.826
(b) 8.944
(c) 5.59
(d) 10.062
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=
)
Q23. The value of 216) 5.

-2
e —

—173
Lﬂ] FT AT FIT 27
(@)
® -5

(c) -38&°
(d) 36

Q24. If the arithmetic mean of two number is 5 and geometric mean is 4. Then the no. are -
T I FATSH T THAL ATET 5 A< AT /e 4 § T HATT AT <

(@) 4,6

(b) 4,7

(c)3,8

(d)2,8

Q25. A can do a piece of work in 40 days. He starts working, but having some other engagements he drops
out after 5 days. Thereafter, B completes this work in 21 days. How many days would A & B take to
complete this work working together?

A TF FTH HT 40 37 & FT a7 8| € FTH FHAT SATH FLAT § AT (€T HIUES T8 5 I 918 F1H Frea
FAT SATAT 8| THH 1<, B TH 19 &l 21 T # FT9 G979 T a7 §| A X B A1 A 560 F19 &l fhaq e
H QT F:N?

(a) 16 days

(b) 15 days

(c) 17 days

(d) 11 days

Q26. A alone would take 8 h more to complete the job than if both A and B worked together. If B worked
alone, he took 4 % hour more to complete the job than if A and B worked together. What time would they
take if both A and B worked together?

et 1 7 A &l B AT e S 997 § 3d €, ST T § A Sl 39 HTH Hl Fd # 8 5 Afad avra
g T B T FTH HY AFT FLAT & A1 I A 3 B 5T F1H Y THIH FLA H 0 THT 4 % He ATAF 0 §)
T A 3T B ST fAerahT T Fi<d § d S8 fhaaT a8/ FONm?

(a) 8 hours

(b) 5 hours

(c) 2 hours

(d) 6 hours
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Q27. Two pipes can fill a tank in 8 h and 12 h respectively whereas an escape pipe can empty it in 6 h. If the
three pipes are opened at 1 pm, 2 pm and 3 pm respectively, at what time will the tank be filled ?

I qTeq Tt ST Y FHen: 8 °E ST 12 °e H WX G § T MHTEl ST 9 6 W H GreAt F< ghar [
N aTET FH: 1T, 2 99 3R 3 9 G AT 7 v SR o s ww srnfie

(a) 8am

(b) 7 am

(c)5am

(d) 7.30 am

Q28. Construction of a road was entrusted to a civil engineer. He was to finish the work in 124 days for
which he employed 120 workmen. Two-third of the work was completed in 64 days. How many workmen
can be removed now without affecting the completion of the work on time ?

T Rfaer SSNfATT 1 955 a9 1 w9 fogr /@, 3§ 98 w9 124 RF & qura F37 o1 19 g saq 120
AU &l HTH I @I, A-FAgE F17 64 AT § @1 1 1. 197 | yorfaa &) foer Mg g sw@ o
F & [T ot WG 1 10 | ZSTAT ST 96T 872

(a) 80

(b) 64

(c) 56

(d) 24

Q29. An express train travels 299 km between two cities. During the first 111 km of the trip, the train
travelled through mountainous terrain. The train travelled 10 km/hr slower through mountainous terrain
than through level terrain. If the total time to travel between two cities was 7 hour, what is this speed of the
train on level terrain?

T T o &I T8 o #qeg 299 fFheft o= A= i g foa & ager 111 et 9% 98 TeTet 5o & Areaw |
ITAT FCAT 5. TAT & HiY AT |, TZTET AT & ATeAq F a5 10 FFfiysiar i+t wfa & amar w+=ft &, 7l
I AZU F T FA AT H 7 9 A &, TT S04 &7 I A 67 I 747 A2

(a) 56 km/hr

(b) 55 km/hr

(c) 47 km/hr

(d) 88 km/hr

Q30. A train can travel 20% faster than a car. Both start from the point A at the same time and reach point B
75 km away from A at the same time. On the way, however, the train :
lost about 12.5 minutes while stopping at the stations. The speed of FLZAKEIIUE SUbsc-

the caris A
TF &, FIE T 20% AT I GHat 3. ST g9 77 92 55 A F sroewy

FA MR BR M ET R IGET§MAT 75 A A @ w ULTIMATE
Rua g T=a ¥, T & VAl W TR q 12.5 fee = g1 1w F A
e T #.
(a) 16 km/hr

PLUS

(b) 56 km/hr S S '
(c) 25 km/hr

(d) 60 km/hr All SSC Live Classes
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